Rasy
3MND2 FEIFPER
20 (B) 21 (k)22 (%) 23 (X) |24 (&)
== |[BEOR FMOES FWOES
IEE LE>%Es BHEL T
V2 LAZELTL
H& mE KU Kyn
17.18.19. 20H® T < = &
1 [Er=o CA i ** HED 55
& Ebht=L 1= 9
. . i LN 5L RO &
DONAILDH—F
HE | EHA B mm
2 HED 5 [ RELHOA KELHDH
QZEFOFB, O—VFD |5. B2 |TEDO LA TED LM
aB Br ) — 3l £ EEZES EEZES
CAEABETD
x:gig El 55 12 #
s 53 DN | HED < 5 E ENDAsLE
3 [eva-—5-ore Eo Lo | B -
%98258 (1) . 26 | #EZ&S ¥
B (8 CYTLv EES
BoTEDL), BHREP.25 s s = s s
4 | 2rEhusssz ce2 FE o SERRE Fi
o rﬁ.t»‘UJ EIA;%L/—C ﬁﬁﬁﬂ%»&")ﬁ What do you %1$%<EE
NBEFEEE CTR-> TIRE %5 _ LAZLKE
FTRENSIBEELITIET like?
J, BEELSUBEBLL
*9. R 2 E ]
5 HIzo-TY | BRETLD HIZO-TY X
ALEMAL | [T = LAl EA
EAS FZ k S5
[ =
6 Fy—=25
W N s W A
T
BARES
%=
58 O O O
E<¢o B4p T (4000 S4B (4000M
BIEASE M) )
L AR " L 5K
¥ v b
b
(43

S0 - -

‘HARA. NNTF. S

KES, 2R7 (FUONED)




